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INSTRUCTIONS TO THE CANDIDATES
There shall be Negative Marking for incorrect answer
and one forth (0.25) marks assigned to question(s) will
be deducted.

Candidate is required to write his/her Roll Numberin (i) this
Question Booklet and (i) OMR Answer Sheet supplied
separately; and also put his/her signature at the places
provided for the purpose.

This Question Booklet consists of this cover page, and a
total 60 Items. Use blank pages available at the end of
Question Booklet for rough work.

There are four alternative answers to each item marked as
(a), (b), (c) and (d). The candidate will select one of the
answers that is considered to be correct by him/her. He/
She will mark the answer considered to be correct by filling
the circle.

Use black/blue point pen to darken the circle.

See the followingiillustration.

llustration:

1.Thesumof20and 12is

(@)32 (b)38 (c)31 (d)34

The Correct answer of item 1 is (a), which should be
marked in OMR Answer Sheetas under:

1@ ® © O

Halffilled, faintly darkened, ticked or crossed circles will be
read as wrong answers by the optical scanner and will be
marked as incorrect.

The OMR Answer Sheet must be handed over to the

Invigilator before the candidate leaves the Examination
Hall.

Keep OMR Answer Sheet straight. Do notfold it.

All questions are compulsory, each question carries one °
mark.

Use of calculator/mobile/any electronic item/objection
material is NOT permitted.

Controller of Examinations
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Please note that in case of any confusion, the question printed in English may be considered final.
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Economic development can be defined simply
as increase in the :

(@  Rateofreal hational income over a long
period

(b)  Real per capita income over the previous
year

(¢)  Realinvestment year after year

(d) National income equal to the rate of
population increase

With economic growth the share of labour force
in the manufacturing sector :

(@  Declines

(b)  Increases

(¢)  Remainsunchanged

(d)  Uncertain and unpredictable

The level of development which takes care of
the need of the present generation without
compromising need of future generation is called:

(@) Modermn growth

(b)  Social development

(¢)  Natural development

(d)  Sustainable development

The doctrine of unbalanced growth is associated
with the name of:

(& Lewis

(b)  Hirschaman
(¢) Rodan

(d) Malthus

One rupee currency notes are issued by:
(a)  State Bank of India

(b) Reserve Bank of India

(c)  Ministry of Finance

(d) None ofthe above



¥ R gE w8 - 6. Bank rate is the rate at which:

(%) Rod I oaRer JY = Iur v 2 (@  RBIextends credit to commercial bank

(@) % o w IUR | (b)  Thebank lends to the public

() R WHR A ARH AN R (¢) The Government of India's rate of
subsidy

(w) Rad 9% ST S IUR I 2
(d) RBIlends to the public

ICICI = 2
7. ICICI s the name of :
(%) fafadw
(a)  Financial Institution
(@) wEE Ian
(b)  Chemical Industry
(W) e AW

(¢)  Cotton Industry
(a) <FR AP PG 0 T
(d) Chamber of Commerce and Industry

Tgd fad A & sy i R - . . -
8. The Chairman of fifteenth Finance Commission
(F) @3RI is:
(@) =Ana (@ NK.P Salve
(W) AR (b) K.C.Pant
(a) waafE (¢)  C.Rangarajan
AR smEi & Suan @ & (d NK. Singh
(%) e TR 9. Whois the vice chairman of NITI Aayog ?
(@) o (@ RajeevKumar
(@) W RiE (b) Narender Modi
T
et (c)  Manmohan Singh
(w) 3w
(d) ArunJaitley
FAIEN Y H T T FEl &
10. Headquarter of IMF is located at :
(%) afmeTaH. _
(@) WashingtonD.C. 1
(|) =
() R (b)  Tokyo
T
(¢) Delhi
(g) o
(d Geneva
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(%) 3Edw (IDA)

(@) vasEAR (MICA)
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14.

15.

Which organization was replaced by WTO?

(@ GAIT

() IBRD

(c) IDA

d IFC

SDR is also known as:

(a)  Papercurrency
(b)  Gold currency

(c)  Papergold

(d) None ofthe above

Which of the following is known as 'soft loan
window' of the World Bank Group?

@ IDA
(b) MICA
© ICSID
@ IFC

If the demand for imports are elastic then the
increase in prices of imports will :

(@  Increase the imports
(b)  Decrease the imports
(c)  Stabilize the imports
(d) None ofthe above

"Hindu growth rate" is related to which of the
following Economist?

(a) J.N.Bhagwati
(b) RajKrishan
(¢)  TN.Srinivasan

@ AK.Sen
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20.

If A= {a,b,c} thenthe number of proper subset
ofAis:

(@ 5
®) 6
(c) 7
@ 8

Which of the following is false?

(@  Every subset of finite set is finite

(b)  Asubsetofan infinite set may be finite
© {0}=0

(d {0} isanull set

IfA = {x:x?+1=0,x isapositive integer} A
is:

() Emptyset

(b) Equalset

() Infiniteset

(d) None of these

The product of two prime numbers is :
(@  Alwaysprime

(®)  Sometimes prime

(c)  Composite

(d  Alwaysan even number

Least number which when divided by 3,4 and
5, every time leaves a remainder of 2

(@ 42 ¥
(b) 52
© 62
@ 92

[ —
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®) 212
@) JV2=31
M 2<ia
@) V2234

2x2+x — 6 =0 U fFax e & Rtg =

(@) 26

6x?—x —2 =0 74 fgera afieor & 3= B
(®) 3/2 R 12

@) 2/3 dk —1/2

(@ -2/33R1/2

(@) I NE A8

21. A graphofalinear equation always represent :

@
(b)
©
(d)

Straight line
Parabola
Circle

None of the above

22. Aftersolving the linear equations —6x +5y=2
and —5x + 6y =9, the value of Y will be :

23.

24,

25.

(@)
(b)
©
(d)

3
4
-3
—4

Which is the correct relation for /2 and a

@
(b)
©
(d)

V2>34
V2=34
V2 <4
V2234

The discriminant of the quadratic equation
2x2+x-6=01is:

(@)
(b)
©
(d)

49
43
24

26

Roots of the quadratic equation 6x>—x—2=0

arc :

@
(®)
©
(d)

3/2 and 1/2
2/3 and —1/2
—2/3and 1/2

None of these
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0 0 0 2
= _B= then
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A isequal to
[0 2 [0 0
(a) 2 2 (b) 1 1
[0 1 0 0]
© 111 @ o 1
2 1 -1 3
If 4= ,B = , findA—-B
(30| 1

3
@ |5 4 ® |3

[1 2
© 3 1 @)

The matrix [000]is:
(@  Columnmatrix
(b) Rowmatrix

(©)  Nullmatrix

(d Bothband c are correct

1 11

If J={1 1 1| thenJ*willbeequalto:
1 11

@@ 37 b 27

© 4J ()] %]

5
If 4 =[2} and B =[8 9 13] then A+ B will
7

be equal to :
13

@ [9} ()  [13 11 20]
13

(0 [40 18 91] (d) Notdefined
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Derivative of constant is :
(A Zero

(b) One

(c)  Infinity

(d) Notdefined

3

. Thelimit ofa function xx: as x approaches
3willbe:
@ 27
b 0
(c)  Infinity

(d)  Notdefined

For differentiability of a function, continuity is
............................. condition.

(b) Necessary
(c)  Sufficient and necessary
(d) Noneofthese

: y
y = x? then — will be:
Ix

d
@ o
® o
© 2
@ o

Maxima and Minima occurs
(@)  Simultaneously

(b) Once

(c) Altemnately

(d Rarely
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2x3 — 21x2 + 36x — 20 = HforEwerRT 9 T
TR ?

(®) 3, 114

(@) -3, -128

(@ 4,-115

(') 4,11

A g R e S 20 2w fome
TR At & ¥ gEan

(=)
(@)
()
(7)) 9om

Wﬁﬁmmw%mm
T AT RO ST IIE e 2

(%) wafe seioe
(@) wfe srfurea
() M =wIkE
(@) T ¥ w8

1
?wm% :

5,18
8,12
10,10

() ——=

R UF THIH F AT TF @ aE Q 2
p=100-2q 7 qIwre" & forg S sma MR
w9 S W@ e 3@ TR =p.q

(®) 200-4q
(@) 100-4q
100-2q
50-q

(70)
)

(=

37.

38.

39.

40.

The maximum and minimum value for the function
2x3 —-21x%2+36x - 20

@ 3, -4
() -3, 128

) 4,-115

@ 4,11

Two positive numbers whose sum is 20 and their
product is maximum are :

(@ 5,15

b) 8,12

() 10,10

@ 91

The concept of maxima and minima are relevant
to the problem of equilibrium in :

(a)  Microeconomics

(b)  Macroeconomics
() Both aand b
(d)  None ofthe above

1
Derivative of — is:
x

4
(@ 7
3
(b) o
3
© -
3
(d) s

A monopolist demand curve is given by
p=100-2q . Find MR for any level of output
qwhere TR=p.q

(@ 200-4q
(b) 100-4q
(c) 100-2q
(d 50-q

I.
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& 2 @ A e I R
(%) 25
(|) 75
() so

(a) 125

A HE WM :

) TR=7q-3q¢
(®) TR=8q-3¢

) TR=8q-3q¢*-2q%3
(&) TR=9q-3¢*-2q"3

(®

(0

jx"dx= ......
xn+|
%1
() n+1n
xn—l
9 =_1
(@) 7
(@™ o
() o
ja"dx: ......

4].

42.

43.

44.

45.

If the marginal revenue is Rs 25 and the elasticity
of demand with respect to price is 2, find the
averagerevenue :

@ 25
b 75
() 50
@ 125

If the marginal revenue function is
MR = 8—6q— 22, then total revenue will be :

(@ TR=7q-3¢
(b) TR=8q-3¢
(c) TR=8q-3q*—2q¢*3
(d TR=9q-3q*-29%3

Jx"dx =.....
xn+1
(@) 1" #-1
xn--l
® —n=-l
c O
d o
Ja" =.....
@ aloga
ax
®) loga
© @
@d o
J | x+1 | dx=....
(@ 1
()
(©)
@ »
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46. Thealgebraic sum of deviation from Arithmetic

47.

48.

49.

50.

meanis :

(& Maximum

(b)  Minimum

(©) Zero

(d)  None ofthe above

The additional observation of 15 is included in
a series of 11 observations and its mean %
remains unchanged. The arithmetic mean of the
series is :

@ 1
b) 15
(c) 165
d 4

Coefficient of variation is given by :

o
@ =

x
®
(c) p %100
d g>< 100
@ <

Which of the following measure of dispersion is
called root mean square deviation?

() Range

(b)  Quartile deviation
(c)  Standard deviation
(d  Meandeviation

If the CoefTicient of correlation between X and
Y is 0.75 then the relationship can be termed
as: 1

(@  Positive and perfect

(b)  Positive and not perfect
(¢)  Negative and perfect
(d)  Negative but not perfect
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(@) rK=1-
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K =1+
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@) v
(1) W =™
(@) T AFE A
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(®) 277
@) /7
(m 3727
(@) 577

51.

52.

53.

54.

55.

‘Which of the following is equivalent to median?

(a) Mean
(b) Mode
) Q

(d  Geometric Mean

The probability of an event cannot be :

@@ 1

() 03
(¢) 05
d -05

Formula for Rank Correlation is :

(a) r1<=1_6“;vD2
B k=15
© rK=1+?fo);
) rK:l—:[fD;[

Square of the standard deviation is :
(@)  Variance

(b) Regression

(¢) Correlation

(d) None ofthe above

The probability that a non leap year selected at
random will contain 53 Sundays is :

@ 27
® 17
© 37
@ 57

—



56. RN #1 W P @ fare far o 2 56. Histogram is used to find :

(¥®) W= (@ Mefm
(@) wgo= (®) Mode
() o (€©)  Median
() THA NS & (d  None ofthe above
7. agdE Raer 3R e R § gy 2. 57. The relationship of Quartile deviation and
° standard deviation is :
(®) 2730 @ 23¢
(@) a/s¢ b) 4/5¢
(M 320 © 326
(®) s/40 d SAdg
56. 52 T % R2vs dan & o P e 2 bl 58. One card is drawn from a standard pack of 52.
T W TR A A R # 2 Whatis the probability that it is cither a King or
a Queen?
(F) 1718
a 1/13
(| 2,13 @
b) 213
(M arma
() 4/13
(a) 3/m13
d 3713

59. V9 W W AT A A W B gy w5y g
T A fohar S @ Y 3wy ¥ . 59. When a relation of three or more variables is
studied simultaneously, it is called :

(@  Perfect correlation
(b)  Highcorrelation
(©  Multiple correlation
(d)  Partial correlation

60. One formula for calculation of mode is:
(@  Mode=2Median — 3 Mean
(®  Mode=2Median + 3 Mean

(W) TgTH = 3 womw — 2 W (©)  Mode =3 Median - 2 Mean

(%) 9o = 3 wemet + 2 e (d  Mode =3 Median + 2 Mean

12



